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Holstein Fitness conversions 

April 2025 

When to use these formulas 

These conversions should only be used for converting cow evaluations and bulls which do not have an Interbull 
evaluation. Please check with AHDB Dairy if in doubt. 

The formulae provide a guide only to the expected evaluations of the relevant bull or cow in the UK. 
 

How to convert a foreign proof using figures in the table below 

      Approximate UK PTA = a + (b * Foreign proof) 

 
 

How to adjust the converted reliability 

To take into account the loss of accuracy when converting a foreign proof into a UK equivalent, Interbull 
guidelines recommend that the foreign reliabilities should be adjusted by the squared correlations between the 
foreign and UK genetic evaluations. 

Somatic Cell Count (SCC) 
The foreign SCC reliability must therefore be multiplied by 0.90 (i.e. UK reliability = 0.90 * Foreign reliability) 

                             a                        b 

GBR  =       16.4  +     45.688  *  AUS 

GBR  =     -64.53  +      23.28  *  BEL 

GBR  =      221.1  +     -2.235  *  CAN 

GBR  =     109.63  +     -1.074  *  CHE 

GBR  =      69.22  +      -0.69  *  CZE 

GBR  =      97.38  +     -0.991  *  DEU 

GBR  =     103.38  +     -1.069  *  DFS 

GBR  =      116.1  +     -1.104  *  ESP 

GBR  =      73.44  +     -0.705  *  EST 

GBR  =      -2.04  +    -11.335  *  FRA 

GBR  =      93.43  +      -0.86  *  HRV 

GBR  =       4.27  +      8.797  *  HUN 

GBR  =      16.62  +     94.549  *  IRL 

GBR  =       6.45  +     42.142  *  ISR 

GBR  =      211.5  +     -2.107  *  ITA 

GBR  =     -48.81  +     27.558  *  JPN 

GBR  =       4.43  +     34.452  *  KOR 

GBR  =       4.74  +     31.417  *  LTU 

GBR  =        2.8  +      0.026  *  LVA 

GBR  =     275.52  +     -2.786  *  NLD 

GBR  =      14.99  +     27.266  *  NZL 
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GBR  =      97.86  +     -0.919  *  POL 

GBR  =       0.58  +     27.061  *  PRT 

GBR  =      -72.9  +     26.733  *  SVK 

GBR  =     121.37  +     -1.112  *  SVN 

GBR  =       3.84  +      49.84  *  URY 

GBR  =    -177.61  +     58.434  *  USA 

GBR  =       3.84  +      0.443  *  ZAF 

Mastitis 
The foreign Mastitis reliability must therefore be multiplied by 0.75 (i.e. UK reliability = 0.75 * Foreign 
reliability) 

                             a                        b 

GBR  =       1.17  +     11.829  *  AUS 

GBR  =      -9.49  +      3.398  *  BEL 

GBR  =      29.19  +      -0.29  *  CAN 

GBR  =      18.57  +     -0.182  *  CHE 

GBR  =       9.99  +     -0.098  *  CZE 

GBR  =      21.11  +     -0.212  *  DEU 

GBR  =      16.11  +     -0.167  *  DFS 

GBR  =      15.94  +      -0.15  *  ESP 

GBR  =      10.09  +     -0.096  *  EST 

GBR  =       -0.2  +     -1.805  *  FRA 

GBR  =      16.43  +     -0.152  *  HRV 

GBR  =       0.96  +      1.265  *  HUN 

GBR  =       0.37  +     14.607  *  IRL 

GBR  =      -0.25  +      6.286  *  ISR 

GBR  =      25.43  +      -0.25  *  ITA 

GBR  =      -6.58  +       3.87  *  JPN 

GBR  =       0.63  +       5.27  *  KOR 

GBR  =       0.63  +      5.206  *  LTU 

GBR  =       1.17  +      0.004  *  LVA 

GBR  =      38.29  +     -0.386  *  NLD 

GBR  =       0.21  +      3.592  *  NZL 

GBR  =      14.62  +     -0.138  *  POL 

GBR  =       0.11  +      3.261  *  PRT 

GBR  =     -12.96  +      4.664  *  SVK 

GBR  =      17.65  +     -0.161  *  SVN 

GBR  =       0.54  +      8.042  *  URY 

GBR  =      -0.02  +      -0.74  *  USA 

GBR  =       0.44  +      0.071  *  ZAF 

Lifespan (LS) 
The foreign LS reliability must therefore be multiplied by 0.70 (i.e. UK reliability = 0.70 * Foreign reliability) 

                             a                        b 

GBR  =  (   -0.53  +      5.147  *  AUS  ) * 305 

GBR  =  (   -0.23  +      0.748  *  BEL  ) * 305 

GBR  =  (   -4.76  +      0.046  *  CAN  ) * 305 

GBR  =  (   -2.23  +      0.022  *  CHE  ) * 305 

GBR  =  (   -1.34  +      0.012  *  CZE  ) * 305 
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GBR  =  (   -1.97  +       0.02  *  DEU  ) * 305 

GBR  =  (   -2.01  +      0.022  *  DFS  ) * 305 

GBR  =  (   -2.95  +      0.027  *  ESP  ) * 305 

GBR  =  (   -0.17  +      0.242  *  FRA  ) * 305 

GBR  =  (   -0.11  +      0.169  *  HUN  ) * 305 

GBR  =  (   -0.13  +      0.114  *  IRL  ) * 305 

GBR  =  (    0.12  +      0.002  *  ISR  ) * 305 

GBR  =  (   -4.56  +      0.045  *  ITA  ) * 305 

GBR  =  (   -0.31  +      0.199  *  JPN  ) * 305 

GBR  =  (    0.05  +      0.001  *  NLD  ) * 305 

GBR  =  (   -0.12  +      0.097  *  NZL  ) * 305 

GBR  =  (   -1.81  +      0.016  *  POL  ) * 305 

GBR  =  (   -1.31  +      0.011  *  SVN  ) * 305 

GBR  =  (    -0.1  +      0.076  *  URY  ) * 305 

GBR  =  (    0.09  +      0.105  *  USA  ) * 305 

GBR  =  (   -1.06  +      0.009  *  ZAF  ) * 305 

Fertility Index (FI) 
The foreign FI reliability must therefore be multiplied by 0.60 (i.e. UK reliability = 0.60 * Foreign reliability) 

GBR  =    -4.7   +    -0.4743  *  AUS CI trait   +          0  *  AUS NR trait 

GBR  =    -1.5   +     1.2206  *  BEL CI trait   +          0  *  BEL NR trait 

GBR  =  -141.5   +      0.887  *  CAN CI trait   +     0.5052  *  CAN NR trait 

GBR  =   -31.7   +          0  *  CHE CI trait   +     0.3031  *  CHE NR trait 

GBR  =   -17.6   +          0  *  CZE CI trait   +     0.1588  *  CZE NR trait 

GBR  =   -67.3   +     0.4335  *  DEU CI trait   +     0.2165  *  DEU NR trait 

GBR  =   -58.3   +     0.4434  *  DFS CI trait   +     0.2021  *  DFS NR trait 

GBR  =   -56.8   +     0.5266  *  ESP CI trait   +          0  *  ESP NR trait 

GBR  =    -3.6   +     5.1887  *  FRA CI trait   +     2.5838  *  FRA NR trait 

GBR  =     1.6   +     -1.447  *  IRL CI trait   +          0  *  IRL NR trait 

GBR  =     2.1   +          0  *  ISR CI trait   +     0.9238  *  ISR NR trait 

GBR  =    -6.8   +    -2.3235  *  ITA CI trait   +     1.9343  *  ITA NR trait 

GBR  =    23.7   +    -0.3459  *  JPN CI trait   +      0.433  *  JPN NR trait 

GBR  =    -171   +     1.1534  *  NLD CI trait   +     0.5774  *  NLD NR trait 

GBR  =     3.6   +    70.7129  *  NZL CI trait   +          0  *  NZL NR trait 

GBR  =   -59.2   +     0.4166  *  POL CI trait   +     0.1588  *  POL NR trait 

GBR  =   -33.1   +     0.2826  *  SVN CI trait   +          0  *  SVN NR trait 

GBR  =    -0.1   +     3.0367  *  URY CI trait   +          0  *  URY NR trait 

GBR  =    -1.7   +     1.9843  *  USA CI trait   +     0.9527  *  USA NR trait 

GBR  =    -1.5   +    -0.3249  *  ZAF CI trait   +          0  *  ZAF NR trait 


